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BR/K EHEHE T HPPE ¢ 75mm



MEERE (1)

ot L] e & F HAfr B & HGRtEE
i AR~ w) | mE | miE | wE | wHE | se | ake | se | wHe | TV s | ake (ke) (ke)
itk %% HPPE ¢ 75
EHR EFF 52
HPPEE /| ¢ 75X 5,000 5.000 11.690 %N 3 11.690
EF 52~ R ¢ 75 x45° 0.480 7 3.360 1A 7 3.360
EF 5~ R| ¢ 75X22 1/2° 0.380 1 0.380 1A 1 0.380
EFfi sz~ R ¢ 75 X 45° 0.380 1 0.380 1A 1 0.380
EFfse~ R ¢ 75X22 1/2° 0.280 1 0.280 1 1 0.280
EF75.2| ¢ 75 0.160 2 0.320 1 2 0.320
PEFRL O 588 FCD  7.5K
TFE (7700) | ¢ 75X ¢ 75 0.710 1 0.710 JIE5] 1 0.710
V7N =T ¢ 75 0.240 2 0.480 e 2 0.480
wiEFR| ¢ 75 H=0.15 1 1A 1
RIS PEZER TSR] ¢ 25 1 1 1
VPH FHY
AWIAKRBITFE [0 75X ¢ 75 0.150 1 0.150 1A 1 0.150
PEA P
AWIAKRBITTFE [0 75X ¢ 75 0.120 1 0.120 1A 1 0.120
VPH
TR 6 75 1 1A 1
PEH
TR 6 75 1 1A 1
T HETA| ¢ 75 IS 7.5k 6 . 6
VI VARERTY AR -SRI KT
HER Ry —MW=15cm(7 VI AD) m 16.330 17.080—0.480—0.270
BRI - E - AR WK T
=540 T4 — m 17.120 17.870—0.480—0.270
(A1797°) 3.310
(BERIER) 17.870 17.870
CrFmIER) 17.080 17.080




MEFRE (2)

AT L] e & F HAfr B & HGRtEE
o AR~ m) | mk | mHE | i | mHE | s | mHE | s | wHE || s | wHE (e) (ke)
AR Y7 A H=670 1 5T 1
AR Y7 A H=970 1 (0 1
(CVOS-21G-15L)
ARG ek | biZA s 2 1A 2
(NVK-25-100K)
FFEY 7 |H=100 1 e 1
(NVK-25-150A)
R H=150 2 1 2
(NHVO-25-200B)
| =150 1 f 1
(NHVO-25-300C)
T B[H=300 2 fi 2
(NHVO-25-70S)
JEEAR |H=70 2 1 2
ZERIPR Y I A H=640 1 & )
(CVOS-50G-10L)
285 9P Bk | H=100 1 1l 1
(NHVO-50-200A)
_E#E| ¢ 500 H=200 1 JIE5] 1
(NHVO-50-300C)
TH#t| ¢ 500 H=300 1 JIE5] 1
(NHVO-50-40S)
JEAR| ¢ 700 H=40 1 . .




B T

T T JRAG - ~TiE E " =K B B | HAL
B2/ HPPE ¢ 75
ARG R — fEEsr — REOKT
RY=F L PR T ¢ 75 17.87 - 0.48 - 0.27 17.12 | m
RS 2Ok s~V
ARV ZF L BT L 675 2 2 | T
WS TARHES + VR + BR77Y
RNITF L BT T 675 3 + 8 + 2 131 [
Y98 X 2 + fifsFH
TR E T 675 2 X2+ 1 51 B
BERLY
RNITF L B YW T 675 7 7 m
e FREkE T ¢ 75 2 | T
Ze IR E T ® 25 1 | 5T
H-E)FBOXEE T H=0.67 1| t&FT
H-Y)FBOXEE T H=0.97 1| t&FT
Z R FBOXEE T H=0.64 1| &
AWK ERE T d 75X ¢ 75 2 | T
WK AR R B ® 75 2 | T
P —R L 16.33 | m
m/H
WK T 6 50 Fa/kEZ2L |17.87+1250 0.0l H
AF AR ZY—h
= 7Y—h o ck=18N/mm2 |(0.60X0.40X0.49— 7 /4 0.09°2 X 0.40) X 2{& 7 0.23 | m3
e JINIR (0.60+0.40) X2 X 0.49 X 277 1.96 | m2
powt iy RC-40 t=100 0.70 X 0.50 X 2{& A 0.70 | m2
AKESEEEIH T
a7 —h o ck=18N/mm2 ]0.60x0.90 X 0.30 0.16 | m3
e JINIR 0.60<0.90 X 2 1.08 | m2




tEMMR

B L= 5.00m

4 FR ) U PR (=gnlin
Bl AKE @® @
HPPE ¢ 75 3.660 0.810 0.530 2
@ ®
2.810 1.010 1.180 2
@ ©® @
1.600 1.220 0.580 1.600 3
b R E
3R
g
2t 8.070 4K 3.620 3.310 7




- TAEEFFR (BKE ¢ 75)
T +TO | +T® | +TO® | +T®
s | e | Rk | Rk
PR Wk W R | KR | xR | xR | xE|xE| e | xE| KE| KE & F
IRy T As t=15cmPA T 7.96 16.98 7.60 9.40 41.94 m
MIERUE T As t=10cmZA T 2.39 7.64 3.06 3.42 16.51 m?*
PRI HIRR A T % i3 2.41 13.98 3.17 4.60 24.16 m?
R B T A AR 0.91 2.93 1.63 1.84 7.31 m?
R B T I+ 0.88 9.09 0.64 1.74 12.35 m?®
TRERET RC-40 t=15cm 2.39 7.64 3.06 3.42 16.51 m?*
b AR T M-30 t=1lcm 2.39 7.64 3.06 3.42 16.51 m?*
R EfEE T HE FABRIAS t=3cm 2.39 7.64 3.06 3.42 16.51 m?*
G TR T I+ 1.43 3.88 2.46 2.67 10.44 m?®
AsiERR T Asi% 0.10 0.31 0.12 0.14 0.67 m?
B ZEA 1.43 3.88 2.46 2.67 10.44 m?
AsERUL G B Asi% 0.24 0.73 0.28 0.33 1.58 t
7Y — RUEL HER 0.16 0.16 m?
ComxiEK Corik 0.16 0.16 m?
Copk Loy & Corik 0.38 0.38 t
T T R B RAR L=2.5m 8.49 8.49 m
XRTL BB PR 1B 8.49 8.49 m




TTHEEHEKR +TO ESU
) SR I o U R 2SR 7)) Lhm
L (h) (hm)
0.000 0.70 — — L
1.900 0.70 0.70 1.33 ﬁﬁ Jgﬂ
0.000]  1.00 - - (REE=1. 5m)
2.080 1.00 1.00 2.08
I 18
600
AsHE L
B FT S — =150 \
W o ¥ |
= _77@/ b4 ] %—
EE]R' — 2
© UARE @ N
= ol [sEmL =
2 o
IRy () =
= s 8
| ZI“ Nl O
7 18"
| —
Ay —F 420974 X — N, HPPE@ 75
TFf FEIR R it E K Hom | HAT
As
FHEUIM T t=4cm 1.00 X 2 X 3.98 706| m
As
HERET t=4cm 0.60 X 3.98 239 m2
BH 0.20m3
HEEREAT  |EEt 0.60 % 1.01 X 3.98 241 m3
HERT ARk (0.60 % 0.39-0.006) x 3.98 091 ]| m3
KRR T FEEL 0.60 x0.37 X 3.98 088 | m3
BERA
TERET RC-40 t=15cm |0.60 X 3.98 239 | m2
PERARA
TERET M-30 t=11cm [0.60x3.98 2.39 | m2
BEZHEAs
REEET t=3cm 0.60 x 3.98 239 m2
LEWMT FE4EL 2.41-(0.88+0.9) 143 | m3
AsiRiEHk T AsHg 2.39 X 0.04 0.10| m3
RN E FEL 143 | m3
AsiB L5 & Asig 0.10 % 2.35 024 t
& &t 3.98 3.41
B HHY h= X(Lxhm)/ XL = 0.86 m
FH 1 < 0.60 m
H: 1.05 m
hl: 1.01 m
h2: 0.37 m
BHME: 0.09 m
WA 0.006 m2




TTHEEHER 1+TO LB
{ﬁ'J,'fi%F'j fiE] %ﬁ j:%&V) RE SR U] L%hm
(L) (h) (hm) +2HaR
0.000[  0.70 — — ($EEE>1. 5m)
0.980 1.68 1.19 1.17 - |
4.090 1.68 1.68 6.87 B A RE8
1.500 1.68 1.68 2.52 T
3.240 1.68 1.68 5.44
0.68 1.00 134] o091 900
) AsEREE L
%ﬁ:p—bw&tsn N | 3
kS SR T EmRE =
N\ FEURR 3
JKI1150 X 500844 0.000 1.34 = = [“’
-2.000 1.34 1.34 (2.68) |
= ; | BEL
| ¥ | (RE T 2
= =7 | =R
E "
!
| S
HA _S_g
PN BESEAREIS
By—T4 24— HPPE® 75
TFf FEIR R it E K Hom | HAT
As
I T t=4cm 1.00 X 2 X 8.49 16.98| m
As
SERUET t=4cm 0.90 x 8.49 764 m2
BH 0.20m3
HBHiEHEAT |EE&x 0.90 x 1.83 x 8.49 13.98 [ m3
HERT ARk (0.90 % 0.39-0.006) x 8.49 293 m3
HWIERT REEL 0.90 X 1.19 X 8.49 9.09 [ m3
BAERA
TERET RC-40 t=15cm |0.90 X 8.49 764 | m2
PERARA
TERET M-30 t=11cm |0.90 x 8.49 7.64 | m2
BEZHEAs
{REgzET t=3cm 0.90 X 8.49 764 | m2
LEWMT FE4EL 13.98-(9.09-0.9) 388 m3
AsiRiEHk T AsiR 7.64 % 0.04 031 m3
RN E FEL 3.88| m3
AsR o & AsE% 0.31%2.35 0.73 t
BEEHRIR
2T L=2.5m 849| m
BELEXR
& 3k 8.49 14.23| RR T 15 8.49 m
LMY h= S (L*hm),/ ZL = 1.68 m

IR <
H:
hl:
h2:

BHME:

I

0.90
1.87
1.83
1.19
0.09
0.006

m

85888




TTHBEEHE +TO

AWK 53 sz (BERXVP ¢ 75)

AR SN R 0 RECES Ul R, i
i O |l ® | tm T ER
FEABNTFESISx B AERE TR LBE t=0 30
= = W=0 69, h=0 90
. Nt/
[}
2 2 i ]Iv o
= #\ -.?PQUJ&QJ )
g % EmmkELTs
F L AFALavsYy—+
1t B600 = L 400 = H4%0
Ay THTE n=p &
ijuTjﬁﬁli_
AsTRiR L
= o
gl | B ——
BEWSTS l J \\\_??SEE.?.E’,%_L_&%E t=0 30
= |t | 0 W=0. 60, H=0 90
PEEI AT A= 1.20X2.20+0.70 X0.60 = 3.06 m2
THE FEIR R it E K Hom | HAT
As
SELIHT t=4cm (2.20+1.20+0.70) X 2—0.60 760 m
As EHIEE
SERIET t=4cm 1.20 X 2.2040.70 X 0.60 3.06 | m2
BH 0.20m3
HEiEyEAT |8t 3.06 X 1.04—0.006 X 2.20 317 m3
AZARCo
HERT ARk 3.06 X 0.59-0.006 X (2.20+1.30)—0.15 1.63| m3
BMERT FEL 3.06 X 0.21 064| m3
BERA
TERET RC-40 t=15cm 3.06 | m2
PERARA
TERET M-30 t=11cm 3.06 | m2
BEZHEAs
REAET t=3cm 306 | m2
RTERT FEEL 3.17-(0.64-=-0.9) 246 | m3
AsiRiEHk T AsiR 3.06 x 0.04 012| m3
RN E FEL 246 | m3
AsiB L5 & Asig 0.12%2.35 028 t
JKEREERRIEL
a9 —rEIEL  |Co 0.30 X 0.60 X 0.90 0.16 | m3
CoiEif T Coi% 016 | m3
Cog iy & Coik 0.16 X 2.35 0.38 t
& 3 ZFRAVY—MER 0.70 X 0.50 X 0.10+0.60 X 0.40 X 0.49 015| m3
B HHY h= Z(Lxhm)/ XL = 0.70 m
) T A 3.06 m2
H: 1.09 m
hl: 1.04 m
h2: 0.21 m
BHME: 0.09 m
WA 0.006 m2




TITHEFEHE LT@ R K 43I (BERHPPE ¢ 75)

)it =N BEOHE | LD |t L%hm T &
L) (h) (hm) —

1200 1.300

AAF yF$I5 vl
S

AFA PO U—F

fl 8500 x LA00 e HESD
=1
g
= '_.
o4 g
g }
FEASMTEESBR 675/ N\ EREPESS
B m X
-1 .Pii_'l_-rﬁﬁlﬁ.__-

PEEI AT A= 1.20X2.20+1.30X0.60 = 3.42 m2
THE FEIR R it E K Hom | HAT
As
ST t=4cm (2.20+1.20+1.30) X 2 940 | m
As EHIEE
SHERUET t=4cm 2.20 % 1.20+1.30 X 0.60 342 | m2
BH 0.20m3
BHIEYEAT  [TEt 3.42 x 1.35—0.006 X 2.20 460 | m3
AZARCo
HERT ARk 3.42 X 0.59-0.006 X (2.20+1.90)—0.15 1.84| m3
BMERT FEEL 3.42 x0.51 1.74| m3
BERA
TERET RC-40 t=15cm 342 m2
HERAPRR
LTERBT M-30 t=11cm 342 | m2
BEZHEAs
REHET t=3cm 342 m2
E R FHEL 4.60—-(1.74+0.9) 267 m3
AsiR Bk AsE% 3.42 x0.04 0.14| m3
RN E FEL 267] m3
AsiE L5 & As7% 0.14x2.35 0.33 t
RSARALYY—MER 0.70 X 0.50 X 0.10+0.60 X 0.40 X 0.49 015| m3
s
LMY h= S (L*hm),/ ZL = 1.00 m
) T A 3.42 m?2
H: 1.39 m
hl: 1.35 m
h2: 0.51 m
BHME: 0.09 m
WA 0.006 m2




HRKERTE L



HERSAE 1) BAERMAET
P Tkt R | BAEEAEQ | RBAREERRQ) | KRS EUTER) B gy & F BN A GRtEE
” (m) HE | BME | & | BME | k& | BME | X M E BE | EBME (kg) (kg)
k& HIVP
HIVP
YAk =L 5] ¢ 20 2.380 m 2.380
HIVP
YAk =L 5] ¢ 25 6.380 m 6.380
HIVP
YAk =L 5] ¢ 40 3.980 m 3.980
PE
YR LSy k| 6 75X ¢ 20 1 118 1
PE
YRLASy k| ¢ 75X ¢ 25 1 118 1
PE
YR VAL k| ¢ 75X ¢ 40 1 118 1
HIY 4R ¢ 20 (TS) 1 1A 1
HIY 7 ¢ 25 (TS) 1 & 1
HIY 7 6 40 (TS) 3 & 3
HI= /LR ¢ 20 (TS) 2 1A 2
HIT /LR | ¢ 25 (TS) 5 A 5
HIT /LR | ¢ 40 (TS) 3 A 3
AN=HNVHETF] ¢ 20 1 1 1
AN=HNVHETF] ¢ 25 1 1 1
ANV FREERET 6 40 X ¢ 30 1 & 1
fHE T &S T ¢ 20 (3 - 1ok D 1 & 1
fHE AT &5 | ¢ 25 (3~ 1ok D 1 & 1
fHE T &S T ¢ 40 (B3 - (kAR D 1 1A 1
[ AT &S ¢ 40 (VPH) 2 ] 2
HHRA-E)TR| ¢ 40 1 & 1
VUG Wt R
PR SR Y —MW=15cm(7VIAD) m 9.500
BRI R
0l —F 40 )Y — m 12.740




MERAE (2) HBAEBRMAET _
T m oM o & i B F AFFEE
Sl AR~ m) | | wHE | mE | sHE | &R | mbE | ke | sHE |0 e | sHE (kg) (ke)
(BERIER) 3.980 6.380 2.380 12.740
CEmEILE) 2.900 5.300 1.300 9.500
[ERIENAS H=520 T T 1
(CVOS—21G-15L)
9 HEE NS & 1
(NVK—-25-300CA)
= FEB[H=300 ] 1
(NHVO—-25-70S)
JE#|H=70 ] 1




HaAKE BT T

T gl JRAG - ~TiE G B B | HAL
#KE HIVP
AL = VEEST T | ¢ 20 2.38 m
A e = VEEST T | ¢ 25 6.38] m
A L = VRS T | ¢ 40 3.98] m
Sy KRR R A T ® 75X ¢ 20 1 | 5T
Sy KRR R A T ® 75X ¢ 25 1 | 5T
Sy KRR FEA T ® 75X ¢ 40 1 | 5T
/LR Vrvb
TSHETFT ¢ 20 2 o+ 1 3| Eir
TR vk
TSHETFT 625 5 + 1 6 | T
/LR Vrob
TSHETFT ® 40 3 + 3 6 | T
AH=AVHET
Ah=JVAk T T ¢ 20 1X2 ol n
AH=ANVHET
Ah=JVAk T T ¢ 25 1X2 ol n
AN=JVAET T ¢ 30 1 I
AN=JVAET T ¢ 40 1 1]
RUIALES T ¢ 40 1X2 21 H
e FREkE T ¢ 40 1| &
H-Y)FBOXEE T H=0.52 1| t&FT
P —R L 9.50 | m




+ T4

FF R Gra K B8 1)

T f +T® | £1TO® | £TO | £TO®
020,25%HAY| ¢ 4058HRY| ¢ 20,25 L] & 40 T 52
4 B R | KE | hkE | BE | kR | BKE | R | KR | R | KR a &

Eh2E YW T As t=15ecmPL T 8.00 2.00 5.20 6.60 21.80 m
EER DU T As t=10cmPL T 2.40 0.60 2.34 2.97 8.31 m?
PEARAE HI AR A T % ik 1.66 0.43 4.14 5.32 11.55 m’
BB B T A AR 0.79 0.21 0.77 1.03 2.80 m’
BRI B T A AR 0.26 0.07 2.78 3.53 6.64 m’
PR T RC-40 t=15cm 2.40 0.60 2.34 2.97 8.31 m’
e T M-30 t=1lcm 2.40 0.60 2.34 2.97 8.31 m?
LT HIE FERKIAS t=3cm 2.40 0.60 2.34 2.97 8.31 m?
FRAGEM L AL FUTNTvr4t 1.66 0.43 4.14 5.32 11.55 m’
AsiRIEM T Asik X774t 0.10 0.02 0.09 0.12 0.33 m’
e Uy FAET 1.66 0.43 4.14 5.32 11.55 m®
Asi L) F As7 (2.35) 0.24 0.05 0.21 0.28 0.78 t
T T i R AR L=2.5m 2.60 3.30 5.90 m
PR T A R S PR 1B 2.60 3.30 5.90 m




TTHEEHER L+T6

HIVP ¢ 20,2535 880 56

{ﬁu;’ﬁ% A fiE] %ﬁ j:%&V) RE SR U] L%hm
L (h) (hm)
B 1) #HIKE 025 (¢ 20)
0.000 0.60 — —
2.500 0.60 0.60 1.50
0.500]  0.60 0.60| 0.30 M_’_M
KR (3) 600
0.000[  0.60 - - AsERERL
BEE— FI=150
1.000[  0.60 0.60 0.60 iif&‘r/ . [ _
= AR annd 4% o
= |2 BEDRRE J
BK B EEL
= = ¥ l#2 6) =
= =
| 2k ‘:’% =]
— -_— o
|
T
Db-—‘;‘"-f‘/’f'?fr'\"—/ _HIWP ¢ 25
(HIVP ¢ 20)
THE FEIR R it E K Hom | HAT
As
FHEUIM T t=4cm 1.00 X 2 X 4.00 800| m
As
SHERUET t=4cm 0.60 X 4.00 240 m2
BH 0.20m3
HEELEAT |EEt 0.60 x 0.69 X 4.00 166 | m3
HERT ARk (0.60 % 0.33-0.001) X 4.00 079 | m3
KWERT ARk 0.60 X 0.11 X 4,00 0.26| m3
BERA
TERET RC-40 t=15cm |0.60 X 4.00 240 | m2
HERAPRR
TERET M-30 t=11cm [0.60x4.00 240 | m2
BEZHEAs
REHET t=3cm 0.60 x 4.00 240 m2
RTERT FHEL 166 | m3
AsiRiEHk T AsHg 2.40 X 0.04 0.10| m3
RN E FEL 166 | m3
AsiB L5 & Asig 0.10 % 2.35 024 t
& &t 4.00 2.40
B HY h= Z(Lxhm)/ XL = 0.60 m

IR <
H:
hl:
h2:

BHME:

i

0.60
0.73
0.69
0.11
0.03
0.001

m

85888




TITHEEHE +£T6 HIVP ¢ 403405
) SR I o U R 2SR 7)) Lhm
L) (h) (hm)
A R(1)
0.000 0.60 — — Faren @
1.000 0.60 0.60 0.60 %71( & 40
! {E#818
600
AsERiE L
BRRRL— FEIS0 | 5
= S “ x\\\. BER g
= ° BEYARE 3
Bkl _ & EEL od
2 E ﬁ CELD) e
= o
B | '9;2 [ DE!_ %
AN
Ayr—F4 504 %— HIVP ¢ 40
THE FEIR R it E K Hom | HAT
As
FHEUIM T t=4cm 1.00 X 2 X 1.00 200 m
As
HERET t=4cm 0.60 X 1.00 060 | m2
BH 0.20m3
HEEREAT  |EEt 0.60X0.71 X 1.00 043 | m3
HiEET AR (0.60 % 0.35-0.002) X 1.00 021 m3
HWIERT AR 0.60%0.11 X 1.00 007| m3
BERA
TERET RC-40 t=15cm |0.60 X 1.00 0.60 | m2
PERARA
TERET M-30 t=11cm [0.60x1.00 060 m2
BEZHEAs
REEET t=3cm 0.60 % 1.00 060 m2
RTERT FHEL 043| m3
AsiRiEHk T AsHg 0.60 % 0.04 002]| m3
RN E FEL 043| m3
AsiB L5 & Asig 0.02 % 2.35 005| t
& &t 1.00 0.60
B HY h= Z(Lxhm)/ XL = 0.60 m
FH 1 < 0.60 m
H: 0.75 m
hl: 0.71 m
h2: 0.11 m
BHME: 0.05 m
WA 0.002 m2




TTHEEHER L+TO

VP ¢ 20,25 H8DER

{ﬁu;’ﬁ% A fiE] %ﬁ j:%&V) RE SR U] L%hm
(L) (h) (hm)
f-o
D #BIKE ¢ 25 (¢ 20)
0.000|  1.68 - - )
0.300] 1.68 168| 050 il 18
0.700 1.68 1.68 1.18
1.300 1.68 1.68 2.18 900
) AsEUBL o
R 5(3) E%_’E?_F bl b | S
0.000[ 1.68 - - s RS TRueE | S
0.300] 1.68 168| 050 SN\ EEORRE g &
r
|
| |= i
o = BEL
M = | (FRE) =
5 A |
= .
|
|
| o
. _9':% g E
/ i [N, -
\ ESEAETR
Bh—F4 2994 %— HIVP & 25
(HIVP ¢ 20)
TFf FEIR R it E K Hom | HAT
As
FHEUIM T t=4cm 1.00 X 2 X 2.60 520 m
As
SERUET t=4cm 0.90 x 2.60 234 m2
BH 0.20m3
BHIEYEAT  [TEt 0.90 X 1.77 X 2.60 414 | m3
HERT ARk (0.90 % 0.33-0.001) X 2.60 077 m3
KWERT ARk 0.90 X 1.19 X 2.60 278 m3
BERA
TERET RC-40 t=15cm |0.90 X 2.60 234 m2
PERARA
TERET M-30 t=11cm [0.90 X 2.60 234 | m2
BEZHEAs
REET t=3cm 0.90 x 2.60 234 | m2
RTERT FHEL 414 | m3
AsiRiEHk T AsEX 2.34 x0.04 009| m3
RN E FEL 414| m3
AsiB L5 & Asig 0.09 X 2.35 0.21 t
BEEHRIR
2T L=2.5m 260 m
BELEXR
& 3k 2.60 1.36| RIR LT 15 260 m
LMY h= S (L*hm),/ ZL = 1.68 m
FH 1 < 0.90 m
H: 1.81 m
hl: 1.77 m
h2: 1.19 m
BHME: 0.03 m
RS 0.001 m2




TITHEEHE +£TO VP ¢ 40+ 1T
AR SN R 0 RECES Ul R,
(L) (h) (hm)
#BKE ¢ 40
A R(1)
0.000f 168 - = £ A REe
1.900 1.68 1.68 3.19 |
1.400 1.68 1.68 2.35
900
AsHREE L
YRR R — Fi=150 | 3
= TR FL. e :- J
EYIARE] B «
r
|
& : | EREL
B _ RCEYS) o
Bk |
|
I
I HA b § 2
A =
: P =
/ I N BEEXRIE
AS—F 12504 ¥v— HIVP ¢ 40
TFf FEIR R it E K Hom | HAT
As
YT T t=4cm 1.00x 2 x3.30 6.60 m
As
SHERET t=4cm 0.90 X 3.30 297 m2
BH 0.20m3
BMEREAT  |EEL 0.90 x1.79 X 3.30 532 m3
HERT ARk (0.90 % 0.35-0.002) x 3.30 1.03| m3
HehiEE T AR 0.90 % 1.19 X 3.30 353 m3
BAERA
TERET RC-40 t=15cm |0.90 X 3.30 297 m2
PERARA
LTERBT M-30 t=11cm [0.90 % 3.30 297 | m2
BEZHEAs
REgzET t=3cm 0.90 X 3.30 297 m2
RTERT FHEL 532 | m3
AsiRiEHk T AsiR 2.97 X 0.04 012| m3
RN E FEL 532| m3
AsiB L5 & Asig 0.12%2.35 028 t
BEEHRIR
2T L=2.5m 330 m
BELEXR
& 3k 3.30 5.54| X RT 15 330 m
LMY h= S (L*hm),/ ZL = 1.68 m
FH 1 < 0.90 m
H: 1.83 m
hl: 1.79 m
h2: 1.19 m
BHME: 0.05 m
WA 0.002 m2




B = I



MERE ,\
2~ ﬁ FEﬁ . f_ z g %»ﬁj_ii é\%{.ﬁi
L JARTE (m) MHME | e | BHME WHME | e | BHME AL & | #HME (kg) (kg)
B E T BERRE X v 7 Ik
VPH
ANFXxy 7| ¢ 75 . )
PEH
ANFXxy 7| ¢ 75 . )




WmET

T i Bk -~k 2V £ HLAT
WmET
fEElfR Y 7 AL T & FT
TR IRy 7 A E T & FT
ZE R B ¢ 25 & FT
BERREPAZET
AT =T VT T 675 [:1




+ TR REET)

T il T+TO® | L TWO
AR | 22 T ik
4 PSR ¥R | ME | KE | KE | HE | KE | KE | BHE | KE | K E a& F

LB T As t=15cmPL T 12.00 4.00 16.00 m
EEETUE T As t=10cmPL F 3.00 1.00 4.00 m*
BEAR R I FEIA T B W 0.72 0.20 0.92 m’
R 7 AN T, B AR 0.06 0.07 0.13 m’
NEL RC-40 t=15cm 3.00 1.00 4.00 m*
T M-30 t=1lcm 3.00 1.00 4.00 m*
RAREE T | 0l MEBRIAs t=3em 3.00 1.00 4.00 m*
FeIEWR T R 4V MTvr4t 0.72 0.12 0.84 m’
AsFOEMR T Asi} V7 Mvs4t 0.12 0.05 0.17 m’
s UG A+ 0.72 0.12 0.84 m’

AsiRAIy B Asi% (2.35) 0.28 0.12 0.40

—




FTHEEME  +TO

BTy 7 At

WeEs | @O | L8O
(0

REIRR; )
(hm)

L*hm

Al | =8
. [-1.000x1.000 _
AsERIE L
\ z T ]»‘.._‘._\.@%. —§
[ r" __5 : (=]
Sk i -
L - JuENERE W30 t=110

TREiEE - BEYLARE RC-40 t=150

) Fp ARy 7 APERR: V= 1/4X0.252X0.25 = 0.01 m3
THE FEIR R it E K Hom | HAT

As

IV T t=4cm 1,00 x 4 X 3T 1200 m
As

SHERIET t=4cm 1.00 % 1.00 X 3& AT 300 m2
BH 0.20m3

HRiEgEAT |8t (1.00 x 1.00 X 0.25—0.01) X 3 Ffr 072 m3

H=0.67-0.29 = 0.38

Ry ZRERT |FXb 7T/4x0.25°2 % 0.38 X 3EFR 0.06 [ m3
BERA

TERET RC-40 t=15cm |1.00 x 1.00 x 3 F 300| m2
REARA

TERET M-30 t=11cm [1.00 % 1.00 x 3EFR 3.00| m2
BEZHEAs

REHET t=3cm 1.00 % 1.00 x 3E R 300 m2

E R FEEL 072 m3

AsiR Bk AsE% 3.00 X 0.04 012| m3

RN E FEL 072 m3

AsiB L5 & Asig 0.12%2.35 028 t




TTHEEHE +T0O TRRR s AR
) & AT 450 |ty Lhm
(h) (hm)
# Al . EIB
-1, 000x 1, 000
AsERERL
kY o
= L% e
g% A =
| EREEREE . $03IRE M-30 t=110
- BAEYARE RC-40 t=150
TR 7 AVER: V= 7/4X0.50°2X0.25 = 0.05 m3
TFf FEIR R it E K Hom | HAT
As
RN T t=5cm 1.00 X 4 x 1A 400| m
As
SEEIET t=5cm 1.00 % 1.00 x 16 1.00 | m2
BH 0.20m3
HRiEgEAT |8t (1.00 x 1.00 X 0.25—0.05) X 1 020 m3
H=0.64-0.29 = 0.35
Ry ZREBERT 4Rk 7T/4%0.50"2 % 0.350 X 18T 007 | m3
BAERA
TERET RC-40 t=15cm |1.00 x 1.00 x 1&FF 1.00 | m2
REARA
TERET M-30 t=11cm [1.00 % 1.00 x 1&Ff 100 | m2
BEZHEAs
REEET t=3cm 1.00 % 1.00 x 16 Ffr 1.00 | m2
E R FHEL 0.20-(0.07+-0.9) 012| m3
AsiR Bk AsE% 1.00 X 0.05 005| m3
RN E FEL 012| m3
AsiB L5 & Asig 0.05 % 2.35 012 | t
& gt 1







G AT

Z

B

B =

%

==
B SRAER LD
HEEYIMT T [As t=15cmBLF| 2.20 4+ 340 4+ 2.90 85 m
k4 ¢ 75 FRAKE WET
SRR T 7 :t=3cm 16,51 + 831 +  4.00 32.99  m2
AER — RKER
¥ t=4em 43.03 — 32.99 10.04 m2
AR A 20 t=3cm 32.99X0.03 0.99 m3
B t=4cm 10.04 X 0.04 0.40 m3
1.39 m3
PR R FIFE A T 32.99%0.01 0.33  m3
AsH T &M AsHZ 1.39 m3
7%+ ER +wp 0.33 m3
AsH TSy AsHT 1.39X2.35 3.27  t
T4y +wp 0.33 m3
e AMEIH (G mAERER L)
HEET RIAs t=4cm 43.03 m2




T 12 IHRIEE o110

| B BB ) EE4A1i# 1000 x 800

MR TR

E#S| E 2 m & i w &

©) 5.30 1.90 10.07

@ 5.30 2.20 11.66

® 3.40 1.70 5.78

@ 3.40 1.70 5.78

® 3.10 0.70 2.17

® 4.70 2.30 10.81

@ 4.70 2.60 12.22

4.40 0.90 3.96

©) 5.90 1.50 8.85

5.90 2.50 14.75
BHE= 86.05
miE= 43.03 m2
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S k<t S WoOR |
AR T
BRI 3| o




+ TR REET)

T il + T
FERAEY
4 PSR ¥R | ME | KE | KE | HE | KE | KE | BHE | KE | K E a& F

LB T As t=15cmPL T 6.00 6.00 m
EEETUE T As t=10cmPL F 2.00 2.00 m?
BEAR R I FEIA T B W 1.92 1.92 m’
PRARIR R T A+ 1.42 142 m?
NEL RC-40 t=15cm 2.00 2.00 m’
T M-30 t=1lcm 2.00 2.00 m’
RAREE T | 0l MEBRIAs t=3em 2.00 2.00 m’
e AaEM AT VTNl 0.34 0.34 m’
AsRIEME | Asik 4 V7N vr4t 0.08 0.08 m’
s UG A+ 0.34 0.34 m’
AsiilL oy Asiik 0.19 0.19 t




FTHEENE 1O BRI T

) & AT 450 |ty Lhm
(h) (hm)
_# A Tﬂm,tﬂ.ﬁ
E 2% - $i3 M-30 t=110
0-1.000%2.000 . /Fm@ms. magans Ro-40 =150
AsHRER L /
plhiide S /
' S
b | d ==
| 7 =
| g"ﬁ” - i
gl g |
—_ = . EEL o)
| ®£D =
|
TFf FEIR R it E K Hom | HAT
As
ST T t=4cm (1.0042.00) x 2 x 1 &R 600 m
As
SEEIET t=4cm 1.00 % 2.00 x 16 Ffr 200| m2
BH 0.20m3
HBHiEHEAT |EE&x 1.00 X 2.00 X 0.96 X 1{&Fr 192 m3
BHERT *4E+ 1,00 % 2.00 X 0.71 X 1 142 m3
BAERA
TERET RC-40 t=15cm |1.00 x 2.00 x 1&FF 200 m2
REARA
TERET M-30 t=11cm [1.00x2.00 x 1&Ff 2.00| m2
BEZHEAs
REEET t=3cm 1.00 % 2.00 x 16 Ffr 200 m2
E R FHEL 1.92-(1.42--0.9) 034| m3
AsiR Bk AsE% 2.00 X 0.04 008| m3
RN E FEL 0.34| m3
AsiE L5 & As7% 0.08 X 2.35 0.19 t
& gt 1




